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Table

Method of Travelling | Number of children
Walking 8 =
Car 9
Bus 4
Cycle 5
Train 1
y Taxi 3
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half past b b
3am = 0300 6:30am = 0630 9:45am = 0945 Perimeter=b+h+b+h Area=bxh

3pm = 1500 6:30pm = 1830 9:45pm = 2145 Units are length, eg, m

2D Shapes (Polygons)
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3 cube cuboid sphere pyramid cone cylinder
=i X (1 ,'ﬁ') faces = flat sides
-5+ edges = where two faces meet

A4 ' vertices = where three or more sides meet (corners)

Units are squared, eg, m?

1 kilogram (kg) = 1,000 grams (g)
- 1 tonne = 1,000 kilograms &

1 litre (1) = 1,000 millilitres (mi)
capacity 1 ltre = 1,000cm?

Bar chart

Joe's Fruit Stand Sales

600

546.27
37.8%

Average SalesiDay

Apples Bananas Oranges Grapes Limes

Hey diddle diddle,

the medlan s the mlddle'
YOU ADD AND DIVIDE FOR THE MEAN.
The mode is the one that appears the most,
and the range is the difference between.

1 centimetre (em) = 10 millimetres (mm)
1 metre (m) = 100 centimetres
1 kilometre (km) = 1,000 metres
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lem® = 1 ml




